WiHAT SHOULD AN SAQ ANSWER 1 OOK 1iKE?

# = Sentence #1: reword the question into a declarative statement that
ANSWIERS the question. If it’s an IDENTIFY question, this is all you need

& =Sentence #2: Actual stuff (CITE EVEDENCE) that happened in world history
that proves sentence #1.

I =Sentence #3: Draw a clear connection for the reader by EXPLARENG how
sentence #2 proves sentence #1. The word BECAUSE needs to be in this sentence!

HERE S A TEMPE ATE FOR WRITENG THE SAQ

(reword the question into a statement) Was (your answer)

. (specific stuff from history that proves sentence #1)

(this is were you explain the connection between sentences #1 and #2) This shows / This is demonstrated

by / This is proven by / This illustrates /

because




